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Hu: 20| ZMBLE
S9l: HASS MBON X8 (649l &2
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A= 2M -3 - SAEH) - MRAY - BES Ol &+ 9K Ofl At ot HwsZ
o= &M 117,497,933 112,296,391 5,201,542
=2 58,987,551
p 820,451
= 3,540,477
= 14,232,068
Al 39,917,386
Z0IME R R Dt 71,882,127 67,882,066 4,000,061
=2 39,517,137
= 1,971,087
< 7,278,218
Al 23,115,685
2D EMERE 26,349,063 25,800,529 548,534
= 20,949,639
= 2,405,476
Al 2,993,948
HASE MEOE XY 23,682,056 23,269,836 412,220
= 18,847,639
= 2,274,754
Al 2,559,663
304 17,337,000 7,392,000 A55,000
= 13,869,600
< 1,733,700
Al 1,733,700
301 YBrBAS 17,337,000 7,392,000 155,000
= 13,869,600
= 1,733,700
Al 1,733,700
01 AtSl2Z =452 17,337,000 7,392,000 55,000
OMAZ0 17,337,000,0008 * 14| 17,337,000
= 13,869,600
= 1,733,700
Al 1,733,700
ot/ =R 0 115,000 123,750 £8,750
= 92,000
= 6,900
Al 16,100
301 YR A2 115,000 123,750 ~8,750
= 92,000
= 6,900
Al 16,100
01 Al B X253 115,000 123,750 ~8,750
Ot &t ZH 20 500,000% * 2302 115,000
= 92,000
= 6,900
Al 16,100
RS20 615,000 758,750 A 143,750
=2 492,000
= 36,900
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0z N>
J2

- _ = ME
N B2 (B0) - HEAY - BY2 ol Ol AF o8 =
2eEtB &= 137,276 138,750 N1,474
= 109,820
< 8,237
Al 19,219
01 MIBIEE X =0l= 137,276 138,750 A1,474
OXa2IHE LZgol X
137,276,000& = 14 137,276
= 109,820
= 8,237
Al 19,219
X HE HZ2EE= X2 72,000 72,000 0
BIZHOI A 72,000 72,000 0
RItR& = 72,000 72,000 0
OXASIAS ALLER X
6,000,000& » 123 72,000
g d=cl XA 15,867 22,667 26,800
= 4,760
Al 11,107
RIZtXt=01d 15,867 22,667 26,800
< 4,760
Al 11,107
ItXI= 82 X 15,867 22,667 6,800
ONMASE ExclXE AL
1,057,800& = 157t 15,867
S 4,760
Al 11,107
X gl2iHs XA 30,000 90,000 260,000
= 30,000
SR 30,000 90,000 260,000
[ 30,000
01 A2IEFH 0= 30,000 90,000 260,000
Oxta?l gI2AHs N3 1,000,000& * 30 30,000
S 30,000
S XA 278,302 255,000 23,302
=2 222,642
= 11,132
Al 44,528
LEtB A= 278,302 255,000 23,302
= 222,642
S 11,132
Al 44,528
01 AIsIEE A =0l= 278,302 255,000 23,302
O2de=X XEAY 278,302,000& = 14| 278,302
= 222,642
S 11,132
Al 44,528
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- _ _ Muo
AR RN SR(SH) - NRAY - BHES 0 & 24 e HRE2
=5 AMOIHAZE 29 30,000 33,000 A3,000
201 LetEEl 30,000 33,000 A3,000
01 AtR2teld] 30,000 33,000 A3,000
OZ=SAMOHAZ A 30,000,000& = 14! 30,000
NASE deod NF 2Z 34| 2,000 2,000 0
202 O4dl 2,000 2,000 0
01 S 2,000 2,000 0
ORgoEs & =gt 22l A Kl
100,000& = 29 * 102 2,000
SXNHATH ZAF 2F 2| 7,440 6,600 840
201 et 1,440 1,500 A60
02 2323l 1,440 1,500 A60
OSXUHAX =AM MOHE HEZ ASZ
30,000& * 401 = 123 1,440
202 O4H| 6,000 4,800 1,200
01 WY 6,000 4,800 1,200
OSXIU&X ZAHOHI
100,000& = 5& * 128 6,000
FRUUOHE ss&II2 K& 36,000 18,000 18,000
307 QI2t0IA 36,000 18,000 18,000
05 2IRAE S 36,000 18,000 18,000
Og37dl otItE ssdEII= XA
3,000,000& * 12& 36,000
M BXNSEAHA 2R 29 95,280 92,504 2,776
= 47,640
Al 47,640
101 1A 95,280 87,224 8,056
2 47,640
Al 47,640
04 JItHIZ2E2HEE S 95,280 87,224 8,056
OAMsIEXSEAMEIA 8223 Q12|
23,820,000 * 4H 95,280
= 47,640
Al 47,640
JIzde=g it FRAIE NZAE 480,233 0 480,233
= 480,233
301 et ez 480,233 0 480,233
= 480,233
01 A2IEFH0= 480,233 0 480,233
Ol z=d&+g i 2220 ALY
480,233,000& * 14 480,233
= 480,233




43 Fo=xEuD SN FOMEBXRD
HE: RO ZMESY
9 HASE MEBOE X (9 &
Al 32 t:sA_l X XH [:|-o|(=|j:”) }\.”I:I}\l,o-l A= 04|/\}0H In_-lln“j_“:_ H|j§3k
== ° T : iy o L) ° TNs a3 &= 04| AFOH U=sa
AtcllZtel At 22l XI& 9,408 0 9,408
= 4,704
Al 4,704
201 et29H| 1,880 0 1,880
= 940
Al 940
01 AbR2t2lH| 1,880 0 1,880
OAtell 22l 3o =& S 1,880,000 * 14 1,880
= 940
Al 940
301 LEtEAZ 7,528 0 7,528
= 3,764
Al 3,764
01 AMIEEE+63 7,528 0 7,528
OAtdl 2elA Y 29 7,528,000& * 14 7,528
= 3,764
Al 3,764
gulz2 TGEAH 2,667,007 2,530,693 136,314
= 2,102,000
& 130,722
Al 434,285
e 2 ALY 2,008,750 1,921,800 86,950
= 1,607,000
& 120,525
Al 281,225
101 Ql244| 587,750 526,000 61,750
= 470,200
= 35,265
Al 82,285
04 JIZtHZ22XNsSE+ 587,750 526,000 61,750
OXNEZZ AN (=01, 222X E)
587,750,000 * 14 587,750
= 470,200
& 35,265
Al 82,285
201 223 31,000 0 31,000
= 24,800
& 1,860
Al 4,340
01 AtR22lH| 31,000 0 31,000
O 20l Mooz 23 WY U
100,000& * 50% = 6& 30,000
= 24,000
& 1,800
Al 4,200
OB UWE LAY L 3o & ety|
250,000 * 43| 1,000
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N IE PR S ISP
Hu: 20| EMEEY
D EelE HEXA (A :H2)
2B N .G (B HEAY . A2 dE e Hl =2+
= 800
= 60
Al 140
307 212t01& 1,390,000 1,395,800 A5,800
= 1,112,000
& 83,400
Al 194,600
10 AlRISXEX 1,390,000 0 1,390,000
OXtg 2Z At (RIE)  1,390,000,000& * 1A 1,390,000
= 1,112,000
& 83,400
Al 194,600
22 Ak K& (F01) 2,500 2,500 0
201 et 2,500 2,500 0
01 AtR2t2ldl 2,500 2,500 0
Oget=gH| 400
oXEAIY ¥ NEEIAMY 222 HE
80,000& * 5H 400
ozgd=a¢ 2,100
o NEDJIZEOAM 3o ¢
70,000& » 159%H * 23| 2,100
NEady 22 230,000 207,143 22,857
161,000
69,000
307 QI2t01™ 230,000 207,143 22,857
= 161,000
Al 69,000
10 At2lSXIE X 230,000 0 230,000
OXgXtedy 249 230,000,000& = 14 230,000
= 161,000
Al 69,000
JbARZEYE 22 AHIA AL 105,263 100,000 5,263
= 80,000
Al 25,263
307 212t01& 105,263 100,000 5,263
80,000
25,263
05 2IZtRAEZ 105,263 100,000 5,263
OJtAHE 2 AMHIA AL
105,263,000& * 14 105,263
= 80,000
Al 25,263
A B S T2 ) SAY 28,750 27,500 1,250
= 23,000
& 1,725
Al 4,025
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A= FoISXF SN FUMEXAD
M 20| ZMBDE
ool 2HlE G N (S5 &2)
- _ _ Muo
A= 2M -3 - SAEH) - MRAY - BES Ol &+ 9K Ofl At ot Hws2
307 L1201 H 28,750 27,500 1,250
= 23,000
= 1,725
Al 4,025
NI ETEES 28,750 0 28,750
OMSXE Z202 2% 28,750,002 * 14 28,750
= 23,000
= 1,725
Al 4,025
NELSTH(HEZAS) 141,244 143,750 A2,506
= 113,000
= 8,472
Al 19,772
301 LBBAI 141,244 143,750 A2,506
= 113,000
= 8,472
Al 19,772
01 ASIBEE 253 141,244 143,750 A2,506
ONEASSH (M2 ZA2S)
141,244,008 * 14! 141,244
= 113,000
= 8,472
Al 19,772
LU YN 2B 3,000 3,000 0
202 048] 3,000 3,000 0
01 2Uioibl 3,000 3,000 0
OgR YKV XE =Y
10,0008 * 3% * 102 3,000
2252 s £330 22SNA(AYISEH) 147,500 125,000 22,500
= 118,000
Al 29,500
301 LHBAI 147,500 125,000 22,500
= 118,000
Al 29,500
01 ASI2EE 253 147,500 125,000 22,500
O2253Us 23N L4V (3YIIS
=5) 147,500,008 * 14! 147,500
=2 118,000
Al 29,500
NEP-E DBl 4,169,302 4,382,071 ~212,769
= 890, 060
= 230,000
= 639, 193
Al 2,410,049
ZOIMBRR HHIA 608, 184 935,829 ~327,645
= 417,707




43 Fo=xEup SAFOIMEX
& NFAel =X0|IEH A=
L EDIMET AHIA (Er9): @2
.= R . CHel (5 SALSY . EH A2 S n=2t
= 35,804
Al 154,673
NSAR MBI A EXAS 596,724 910,029 A313,305
= 417,707
& 35,804
Al 143,213
307 212t01& 596,724 910,029 A 313,305
= 417,707
& 35,804
Al 143,213
05 QIZtfEZ 596,724 910,029 A 313,305
OXISAtEI MHI A EXHALS
596,724,000& * 14 596,724
= 417,707
& 35,804
Al 143,213
NSAZ A A AAH A 2,460 1,800 660
201 LBt 3| 960 0 960
02 2223H| 960 0 960
OseU=X 1294 Mate3
40,0003 = 200 = 12& 960
301 LEEAZ 1,500 1,800 A 300
10 EALAHIZEA S 1,500 1,800 A300
OMHIA H 92 WS 1,500,000 * 14 1,500
SXXH MEIAAME 233U 4,000 4,000 0
201 et 1,000 1,000 0
01 AtS2t2ldl 1,000 1,000 0
Oger=gH| 1,000
oSXXA MHlIA EE2 M
1,000,000 » 14 1,000
202 (44| 3,000 3,000 0
01 =LHO b 3,000 3,000 0
FOIME HHIAHA AFY =& I
100,000& * 3H = 108 3,000
S|Y2UE365 FRAAY 5,000 5,000 0
201 LBt 3| 5,000 5,000 0
01 AtSR2t2ldl 5,000 5,000 0
Os|LUE 365 TJAAMNG 222 HE
5002 = 10,0000H 5,000
el SAtE s 243t 289,056 262,238 26,818
= 36,528
= 29,000
Al 223,528
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SR AR SAE S 2

D FOI=NEE D SN FOIMBRAD
© NSAS] =XI0I8F RE
3

2y

AR . B . MM .G (B HEAY . B2 AboH dE= Hos
MotsXsSAMEH 29 58,000 58,000 0
= 29,000
Al 29,000
307 gI2told 58,000 58,000 0
= 29,000
Al 29,000
10 AlRISXEX 58,000 0 58,000
OMII=X SAtHE 2F(22)
58,000,000& * 14 58,000
= 29,000
Al 29,000
SEANASAHEH 29 150,000 150,000 0
307 212t01H& 150,000 150,000 0
10 AlRISXEX 150,000 0 150,000
OSSN SAMAE 22|
150,000,000& * 14 150,000
NASAA B8z X 39,040 15,766 23,274
= 19,520
Al 19,520
307 212t01& 39,040 15,766 23,274
= 19,520
Al 19,520
10 AtSIZ2XE X 39,040 0 39,040
OXA=SAMAY BE&= XA 39,040,000& 14 39,040
= 19,520
Al 19,520
ANHASAE 2CUO0IH K& 34,016 30,472 3,544
= 17,008
Al 17,008
307 212t01& 34,016 30,472 3,544
= 17,008
Al 17,008
10 AlRISXEX 34,016 0 34,016
OXLZEAL 2CIHIOIEH K&
17,008,000& * 2% 34,016
= 17,008
Al 17,008
ANE ADIDIE 28 A& 8,000 8,000 0
307 gI2told 8,000 8,000 0
10 At3IZ2XE X 8,000 0 8,000
OAME9 AIIDIE 28 2ZAE
8,000,000 * 14] 8,000
SXAE 28 K& 1,349,360 1,214,340 135,020
= 151,000
& 205,872

|
©
|




42 Fp=NEN A EUMBTADL
M XNFAte X218 2=
¢l SXAAE 29 XA (Ste &)
Al 32 t:sA_l X XH [:|-o|(=|j:”) }\.”I:I}\l,o-l A= Oﬂj\}OH In_-“‘j_'n:_ H|j§3k
== ° T R B i o ) ° TNs a3 &= 04| AFOH U=sa
Al 992,488
MISXAE SALT Us 3,000 3,000 0
301 LetEA3a 3,000 3,000 0
10 HALAHIEAZS 3,000 3,000 0
OMIEXAE SAK WF
3,000,000& * 14 3,000
MIISXRAE BMLL SR X3 1,022,760 890,640 132,120
= 204,552
Al 818,208
307 QI2t0l™ 1,022,760 890,640 132,120
& 204,552
Al 818,208
10 At2lSXIE X 1,022,760 0 1,022,760
OAtSI=XAE SAX SR
1,022,760,000& * 14 1,022,760
& 204,552
Al 818,208
ASISXIAIE 23 15,000 13,000 2,000
301 LEEAZ 15,000 13,000 2,000
01 AM3IEEE+63 15,000 13,000 2,000
OASI=XIAE /=2 15,000,000 = 14 15,000
SASEXZ0 SA2LLE 12| 72,000 72,000 0
= 36,000
Al 36,000
301 LetEA3 72,000 72,000 0
= 36,000
Al 36,000
09 SU2RRABH= 72,000 72,000 0
O39Z2FLA olAHd|(sAH)(2H)
72,000,000& * 14 72,000
= 36,000
Al 36,000
Helag MIAdE K& 6,600 5,700 900
& 1,320
Al 5,280
307 BI2t0l™ 6,600 5,700 900
& 1,320
Al 5,280
10 AlgISXIEX 6,600 0 6,600
OMelz2gd AaAd 29 K&
6,600,000 * 14] 6,600
& 1,320
Al 5,280
SEAE =2 28 A& 230,000 230,000 0
= 115,000




43 Fo=xEup SA MBI
& NFAel =X0|IEH A=
@2l SXNAE 23 N& (9 E2
N=— Xz . Clol (5 S AL . HA 2 AL OH S 5 =2
Al 115,000
307 QI2t01A 230,000 230,000 0
= 115,000
Al 115,000
10 AlRISXEX 230,000 0 230,000
OsgMz=sx2 2 (2H)
230,000,000& = 14 230,000
= 115,000
Al 115,000
HE=X 8E =4 1,197,095 1,088,240 108,855
= 210,735
Al 986, 360
MEXEos 29 K& 50,000 50,000 0
& 8,000
Al 42,000
307 QI2tol™ 50,000 50,000 0
& 8,000
Al 42,000
10 ABISTEZR 50,000 0 50,000
OMI=XE2E 29 XA
40,000,000& * 14 40,000
= 8,000
Al 32,000
OMaI=XIEos 25 K& (Al F=I1)
10,000,000& * 14l 10,000
MBI SXIHE K& 5,000 6,000 A 1,000
307 212t01H 5,000 6,000 A 1,000
04 CIZFHALE X 5,000 6,000 A 1,000
OAtsI=XIHal dAF XI&  5,000,0003 = 14] 5,000
NSGA2I=XEoAM 29 A& 76,000 81,000 A5,000
201 Let243d| 1,000 1,000 0
01 AtR22ld| 1,000 1,000 0
0201148 X YA SXIH = T 22t
1,000,000& * 14 1,000
307 2I2t0l™ 75,000 80,000 A5,000
10 AlRISXEX 75,000 0 75,000
OXgGA=XEH 2
75,000,000& * 14 75,000
MIERNE B2 34,560 36,000 A1,440
= 5,760
Al 28,800
201 LBt 34,560 36,000 A 1,440
= 5,760
Al 28,800




a3 FoSTEMp SN FUMEXAED
& NFAel =X0|IEH A=
el MA=X A x4 OB
Al 32 t:sA_l X XH [:|-o|(=|j:”) }\.”I:I}\l,o-l A= Oﬂj\}OH In_-“‘j_'n:_ H|j§3k
== ° T R B i o ) ° . = * dos =5 O:H{ﬂ,% Lsa
01 AtE222|H] 34,560 36,000 A1,440
OMIEX dE B2 34,560,000& * 14 34,560
= 5,760
Al 28,800
JI=FcYW3 23 & 15,000 15,000 0
307 212t01& 15,000 15,000 0
10 AlRISXEX 15,000 0 15,000
OJI=&%t¥3 24 K& 15,000,000& = 14l 15,000
8 SXNEE FA 11,340 10,200 1,140
201 LBt 11,340 10,200 1,140
01 AFR 22l 11,340 10,200 1,140
O3S XNE2ZU X ASES
3,500,000& = 14 3,500
OodasX oz =
70,000& * 89 * 23| 1,120
OAtell2te] dofds =%
80,000& * 798 * 123l 6,720
HAE SXEE ZEAIY 293 6,000 6,800 A 800
202 (4| 1,800 1,800 0
01 =Wl 1,800 1,800 0
OAE=NAL T 01t
60,000& * 3% * 10& 1,800
203 HERF=&| 4,200 5,000 A 800
03 AIMFXHRFEH| 4,200 5,000 A800
OFU=SXNFE(2E) 2,400,000 » 14 2,400
OS XA #MFE 1,800,000 » 14| 1,800
ATHola EsAl4 01018 Ots K& 572,875 678,240 A 105,365
& 114,575
Al 458,300
301 et2 4= 572,875 678,240 A 105,365
& 114,575
Al 458,300
01 AM3IEEE+63 572,875 678,240 A 105,365
OAmolA E=Ald 01018 Ol 2dsY
572,875,000 * 14 572,875
& 114,575
Al 458,300
AT ola nssty =gz Y 2dstg X3 298,400 205,000 93,400
& 59,680
Al 238,720
301 LEtEAZ 298,400 205,000 93,400
& 59,680
Al 238,720
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A AEl SRID1E 2=

0z N>
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D HEEX B RA (B9 &2
- _ MNuE o
- 2N EHCRA(FAH) - MFAE - BEZ O AF K Ofl At ot HwsZ
01 ASl2EE 463 298,400 205,000 93,400
OAMIOF DNESD 402 ¥ stz
98,400,008 * 14! 298,400
= 59,680
Al 238,720
MEIQ! =& X2 AHeS 10,000 0 10,000
307 212+0| 10,000 0 10,000
10 Alsl= X2 E 10,000 0 10,000
OME®l F& XA 10,000,000 * 14! 10,000
A FEH SR KA 6,000 0 6,000
307 212H0I 6,000 0 6,000
10 Asl=X8E 6,000 0 6,000
O - FH Holoit] 2| X2
6,000,0002 * 14! 6,000
M 014 S =3 X 110,000 0 110,000
= 22,000
Al 83,000
301 YsrPAS 110,000 0 110,000
= 22,000
Al 83,000
01 ASIEE X253 110,000 0 110,000
OATHOL 014 HSHMS=Z K&
1,000,000 * 110 110,000
= 22,000
Al 83,000
SE0IZED SHRGAE DaHl X 1,920 0 1,920
= 720
Al 1,200
301 YErEAa 1,920 0 1,920
= 720
Al 1,200
01 AEI2EE 453 1,920 0 1,920
OS80|Z=0l 2HBGAIY RS
320,002 * 6% 1,920
= 720
Al 1,200
2ol ©5 U X 725,607 881,424 A 155,817
=2 435,825
= 50,000
= 186,782
Al 53,000
SUA=TAIL 2% XY 622,607 560,924 61,683
= 435,825
= 186,782
307 212+0| 622,607 560,924 61,683
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AR FpSNEY SN FEOIMET A
Ha: NHAE =XOIY 25
Sl 2ol 25 o X (B9 &)
- _ _ Muo
A= 2N -SA(SH) - NRAY - BE=Z Ol &+ 9K Ofl At ot HwsZ
= 435,825
= 186,782
10 AEIZREE 622,607 0 622,607
ORgo AlE 2% XY 622,607,002 * 14 622,607
= 435,825
= 186,782
Cxx 25 96,000 96,000 0
= 50,000
Al 46,000
307 212+0IH 96,000 96,000 0
= 50,000
Al 46,000
IEEEES 96,000 0 96,000
OL%0 AE2Y(2H) 96,000,002 * 14 96,000
= 50,000
Al 46,000
#eix LATS 7,000 7,000 0
301 YBrBAS 7,000 7,000 0
01 A B X453 7,000 7,000 0
ORI A ALK ZRI|
3,000,0008 * 14! 3,000
O#2X Albl S A Oftl
4,000,008 * 14! 4,000
Lol =X 57 38, 106,451 34,675,429 3,431,022
= 17,677,438
= 1,741,087
= 4,231,949
Al 14,455,977
COIS T AL B2 10,274,681 12,938,095 ~2,663,414
= 454,224
= 1,531,401
= 2,623,079
Al 5,665,977
Y2g UE 720,000 1,560,000 840,000
402 Q12X 0|H 720,000 1,560,000 840,000
01 QIARERE 720,000 1,560,000 840,000
OFEY &5 720,000,0002 * 14! 720,000
Y2Y 29 270,000 592,200 £322,200
2 200,000
Al 70,000
307 2120/ H 270,000 592,200 A322,200
s 200,000
Al 70,000
EEEES 270,000 0 270,000
OY2Y | 9000008 * 3007H 4 270,000




43 Fo=NENp A MR
Mo Lol =1 S
@Rl Lel=XA4 2l (Ste &)
A .S M. (5 H) - MEAMY - BHAS O] Ak OH &EIE H =2
== ° T == T2 ° TNs a3 &= 04| AFOH U=sa
= 200,000
Al 70,000
d2Y Ald 22| 10,980 12,980 A2,000
201 et29H| 5,980 7,980 22,000
01 AbR2t2lH| 5,980 7,980 A2,000
OAzY AV 22
70,000& = 23| = 79H 980
OPRL(IRMN) H2E uel
3,000,000& * 14 3,000
OLHEME EHE+2 K=
2,000,000& * 14 2,000
307 QI2t0l™ 5,000 5,000 0
10 At2lSXIE X 5,000 0 5,000
OZ=2Y &I - JtA otEZ AL
5,000,000 * 14 5,000
Jd2Y el 252 K& 57,400 56,000 1,400
& 11,480
Al 45,920
307 gI2told 57,400 56,000 1,400
& 11,480
Al 45,920
10 AlRISXNEZR 57,400 0 57,400
OATE LYl BEE NA(2)
57,400,000& * 14 57,400
& 11,480
Al 45,920
A=Y 2435 60,000 60,000 0
= 30,000
Al 30,000
307 QI2t01A 60,000 60,000 0
= 30,000
Al 30,000
10 AlaISXIEX 60,000 0 60,000
OZd2Y g43(23) 60,000,000& * 14 60,000
= 30,000
Al 30,000
d=2Y 2J1# K& 50,000 50,000 0
402 U2t X201 A 50,000 50,000 0
01 It GEEZ 50,000 50,000 0
Od=zY 23717 N 50,000,000& * 14 50,000
MOt =XAIE 2H(SHUER) 1,888,586 1,730,470 158,116
= 517,277
Al 1,371,309
301 ptE A= 1,458,116 1,300,000 158,116
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A= FoISXF SN FEOIMET A
M3 Lol =X S
Sl CoI=TIAIL 22 (25l &2
- _ _ Muo
AR RN SR(SH) - NRAY - BHES 0 & 24 e HRE2
= 338, 469
Al 1,119,647
01 AISIREE 263 1,458, 116 1,300,000 158,116
OMIENNE Lol QAL 2E (=2 (
=3) 1,458, 116,0002 * 1Al 1,458,116
= 333,469
Al 1,119,647
307 2201 H 430,470 430,470 0
2 178,808
Al 251,662
10 AMEI=X2X 430,470 0 430,470
OTHIHEOl SXAL 2 (2H)
430,470,008 * 14} 430,470
= 178,808
Al 251,662
COSNAL 2Y X 4,128,301 5,176,372 A1,048,071
2 484,124
= 2,105,434
Al 1,538,743
301 YLrBAZ 3,641,655 4,738,476 ~1,096,821
= 484,124
= 1,857,245
Al 1,300,286
NIEEEERTE 3,641,655 4,738,476 ~1,096,821
OL=SRAL(HIQYSE (S3)2Y (22
) 641,655,008 * 14] 3,641,655
2 484,124
= 1,857,245
Al 1,300,286
307 2201 H 486,646 437,896 48,750
= 248, 189
Al 238,457
10 MBS X2 X 486,646 0 486,646
OLoMBAL 29U XV (2H)
486,646,008 * 14 486,646
= 248, 189
Al 238,457
CO=TAL RIAY 2HHY 4,400 4,400 0
202 Oit| 4,400 4,400 0
01 2UoiHl 4,400 4,400 0
OwQI=X ASB2IAL 2SHY]
4,400,000%! * 14! 4,400
A2 LoNR B3 10,000 10,000 0
307 QI2H0|H 0,000 10,000 0
10 MSIZ X 10,000 0 10,000
OFRY LoNe B3 50002 * 2,008 10,000
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A= FoSX P SN UMD
@ ol =X B2
=OI=XAE 22l (29l &
- _ _ Muo
2 2H B SR(EH) - MRAY - B S 03] &+ o e HRE2
CASTAE JIsEY 625,443 85,000 540,448
= 312,724
= 62,545
Al 250, 179
402 BIR2OIH 625,443 85,000 540,448
=2 312,724
= 62,545
Al 250, 179
01 pIAXEEE 625,443 85,000 540,448
Omotoly Js2Y 625,448,008 * 14| 625,448
2 312,724
= 62,545
Al 250, 179
A2y 5= % OlsEY 200,000 300,000 100,000
401 Al&HIL = Y| 200,000 300,000 100,000
01 Al&H] 200,000 300,000 100,000
Oy K4 200,000,0002 * 14} 200,000
CoSE=ENE 29 779,966 993,873 £213,907
= 300,000
Al 479,966
101 01244 249, 110 38,748 210,362
IBTETEESETRS 249, 110 38,748 210,362
OJIH el ALY (2H) 17,507
SIIEB(FE GNEE)
61,0008 * 12 « 287 17,507
OZ2IXEA QIRY(2A) 12,341
SIIEB(FE GNEE)
43,0008 * 1% « 287 12,341
OASA IR (2) 12,341
oJI2B(F5, UNEE)
43,0008 * 1% « 287 12,341
OYYA IRl (22) 12,341
oJI2B(FE, UNEE)
43,0008 * 1% « 287 12,341
OZX2lA A2 (22) 12,341
oJIE2B(FE. UNEE)
43,0008 * 1% « 287 12,341
OASIZXIA Q12 (23) 49,364
EPIEETES Hepiaas))
43,0008 * 4% « 287 49,364
OSSHYAM QIR (27) 12,341
SIIEB(FE ANEE)
43,0008 * 1% « 287 12,341
OFAT2 AR (2R) 24,682
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FOST BB SN FEOIMEX A
Lol 22X &
COI= AL B2 (et & 2
SN EH . O (3) - HIBAY - BAS Ofl A o4 gggf; HRS2
ol|l23(F8,dxzE)
43,0003 + 29 = 287 24,682
Ooxcle a2 (g2d) 24,682
cl|23(F8,dxzE)
43,0003 * 2H x 287 24,682
OF A2 cl2d(2H) 24,682
cl|l23(F8,dx1E)
43,0003 * 2H x 287 24,682
OJI2HH 22X AlIZ2te] == (2H) 46,488
SUNFAR =y
8,060 » 13% = 8A|Zt = 50 41,912
o Al2H2l =S (I H 2tel)
11,4403 = 1H = 8AI2F » 50 4,576
201 Lete gyl 177,856 137,396 40,460
01 AtS22telyl 121,116 80,856 40,260
ogstxgd|(23d) 35,068
o= #8 & HHY M
3,000,000& = 14! 3,000
OANREESS FL 5,000,000& * 14 5,000
oAl RISE Y Az S M
500,000& = 14! 500
o N ¥ 2HME P H| 15,000& * 200 3,000
oRZE ASsE 13,000& * 35 ~ 12& 468
odHIFH AZE L S Xl
3,000,000& = 14! 3,000
o3ldae ABRE 2,000,000& * 14 2,000
oE&ANA ADE 100,000& = 123 1,200
oHlF , &I WA AR 100,000& = 123 1,200
oG ANA ADE 100,000& * 123 1,200
ollgdl AQRE 200,000& = 123 2,400
oZdgzANY ABE 5,000,000& * 14! 5,000
o8 Bt=D| SXl&2ld]
100,000& * 123 1,200
ogala SAIE BE JFgl 500,000 * 14 500
oIz ) JHEY & 22| 3,000,000 * 14 3,000
oL olEg=EXE &3t 200,000& = 123 2,400
oggsd(2d) 86,048
oLz ) 2 L AIES  83,648,000& * 14! 83,648
ocR2dRS ¢ XNIRAS 32|
30,000 * 10 * 83| 2,400
02 =294l 56,740 56,540 200
O222=2 ¢ MAM(=d) 56,740
oMIIE 3,000,000& ~ 12& 36,000
oMOtEE 150,000& = 12& 1,800
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43 Fo=NENp A MR
Mo Lol =1 S
9 OISXAIL 22 LR
A .S M. (5 H) - MEAMY - BHAS O] Ak OH &EIE H =2
== ° T R B i o ) ° TNs a3 &= 04| AFOH U=sa
cEAMNHRE S 150,000& * 23| 300
oSMEEZ 400,000 * 14 400
ozl rEAL =2 120,000& » 12& 1,440
o ROIZHIAIAEY 223
180,000& * 123 2,160
oFIIIEBE JE 442
350,000& * 12& 4,200
oABEY HHEZ 442
180,000& * 12& 2,160
oA UK 44 B
80,000& * 3CH = 12& 2,880
os&J| BIIEA =2  200,000& * 13 200
oSH HJIS(SAE) Maldl
100,000& * 12& 1,200
o HAAIE 2Zte|l Rl 3,000,000& * 14 3,000
oLOIE|B 018 thy HYAEE
1,000,000& * 14 1,000
206 MZ=Hl 253,000 46,149 206,851
= 250,000
Al 3,000
01 =4l 253,000 46,149 206,851
OZdZ4Y AE MEHI(2H)
250,000,000& * 14 250,000
= 250,000
OHZEg £ £ 20 2 (2H)
3,000,000& * 14 3,000
307 QI2t01A 50,000 50,000 0
= 50,000
10 ARISXNEZR 50,000 0 50,000
OoLogrx 2 2912 (2d)
50,000,000& * 14 50,000
= 50,000
401 AIEHIZ 2 20,000 0 20,000
01 Al&HI 20,000 0 20,000
OLolss=xa sFHLE M (2A)
20,000,000& * 14 20,000
405 KtatE S| 30,000 721,580 A691,580
01 XM =SEFHSHI 30,000 721,580 A691,580
OLoEs=xa 25 28 FLU(2H)
30,000,000& * 14 30,000
COMEAIE JIsSEY 10,000 0 10,000
401 AIEHIZ2b] 10,000 0 10,000
01 Al&HI 10,000 0 10,000
OFST=oE & M)
10,000,000& * 14| 10,000
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2y
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b
rererg
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Ju
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2

af

il

x

CEE L O(S) - HRAY - BAS

=

Ao

-/

20
B
2

oy
HU
e
=
C
LS
S
H
il

= Hn W

283,000
141,500

28,300
113,200

283,000

402

=z HnH

283,000
141,500

28,300
113,200

283,000

01

2,830,000& * 100JH 2

=M

283,000

283,000
141,500

28,300
113,200

283,000

=z H

576,600

115,320
461,280

576,600

307

= H

576,600

115,320
461,280

576,600

|
OZ2Y 2g4| XNA(=2H)
576,600,000& * 14|

=z H

576,600

576,600

115,320
461,280

576,600

=

600,000

300,000
300,000

600,000

402

=

600,000

300,000
300,000

600,000

01

600,000,000 * 14

= M

600,000

600,000

300,000
300,000

600,000

H™

ro
0z
e
HT

N

= HHD JY

24,409,004
16,613,103
142,500
1,487,388
6,166,013

19,577,271

4,831,733

= HnH

23,160,387
16,212,271
1,389,623
5,558,493

18,281,090

4,879,297

H

23,160,387
16,212,271

18,281,090

4,879,297
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0z N>
J2

SR HE SR (B) - HRAY - B S

o

=

-/

20
B
2

= H

1,389,623
5,558,493

(=) 23,160,387,000& = 14|

=MW

23,160,387
23,160,387

16,212,271
1,389,623
5,558,493

18,281,090

4,879,297

=z H

317,040

63,408
253,632

328,800

211,760

= H

317,040

63,408
253,632

328,800

A11,760

=g 317,040,000& * 14|

=

317,040

317,040

63,408
253,632

328,800

A11,760

=M

160,000

64,000
96,000

160,000

307 G12t0IH

=M

160,000

64,000
96,000

160,000

|
OZzg fa=2(22) 160,000,0008 » 14!

=M

160,000
160,000

64,000
96,000

160,000

MAS Mot AAF HiE

=M

190,000

76,000
114,000

190,000

307 2120l A

=M

190,000

76,000
114,000

190,000

10 MaISXEX

OMAES IOl TAIZ B (22)
190,000,000& * 14

Rl

190,000

190,000

76,000
114,000

190,000

=M

5,000

2,500
2,500

5,000

307 2120l &

=M

5,000

2,500
2,500

5,000

01 9
5,000,000& * 14!

5,000
5,000

5,000
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A2 Fp=nEYD S FOIME
= Lol =X 58
D LoIME B SERED
2.2 M. CQ(FH) - MBAMY - BHAS dE T Hn=2
= T ctom s I ° . = * dos 0:”/‘l|_% Lsa
= 2,500
Al 2,500
LolEssE JIEMHIA ALY 215,617 211,923 3,694
= 150,932
= 12,937
Al 51,748
307 212t01& 215,617 211,923 3,694
= 150,932
= 12,937
Al 51,748
10 AFRISXEX 215,617 0 215,617
Okelss JIZ2MElA A
215,617,000& = 14 215,617
= 150,932
= 12,937
Al 51,748
LoEE SEAMHIA ALY 357,000 398,738 A41,738
= 249,900
= 21,420
Al 85,680
307 212t01& 357,000 398,738 A41,738
= 249,900
& 21,420
Al 85,680
10 AlRISXEX 357,000 0 357,000
Okolss SEMHIA A
357,000,000& = 14 357,000
= 249,900
= 21,420
Al 85,680
OrIf 2 ZAAE 2tel 3,960 1,720 2,240
201 Let243| 3,960 1,720 2,240
02 =234l 3,960 1,720 2,240
O=232z= & HA 1,320
oHELR &H CCTV 3l&d AtZE
50,000& = 1CH * 12& 600
cHEUR &H dol=k AIZEZ
60,000& * 12& 720
OAEEHl |Xb 2,640
ocRzZAL RAES 2,640,000 » 14 2,640
oI ot=3t =iy 268,700 490,500 A221,800
& 4,320
Al 264,380
Lolffsr 2 55,000 46,000 9,000
307 gI2told 55,000 46,000 9,000
10 AtaIZ2 X2 X 55,000 0 55,000
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A= Fo=RYHP SN FLMEB XD
HE: ol =X 57
D LOIGi Dt S B (25l &2
_ _ HE T
= - 2M - 33 (3H) - MEAMY - BES Off &F K Ofl At ot Hws2
OLoltfe 29 5,000,0008 * 474 20,000
ONE wollis 2Y(28 F2a)
10,000,0008 * 272 20,000
OAE wollis 2 (YS-ells)
5,000,0002 * 14} 15,000
Y2y #3 T2y 22N KL 18,000 18,000 0
= 3,600
Al 14,400
307 QI2H0IH 18,000 18,000 0
= 3,600
Al 14,400
NEETEES 18,000 0 18,000
Az 28 ZRIY AKX X
8,000,009 * 14} 18,000
= 3,600
Al 14,400
=013 2| 32,400 26,800 5,600
307 21201 H 32,400 26,800 5,600
10 MBI=X2X 32,400 0 32,400
OLos 2| 32,400,0002! * 14! 32,400
QIS AL &L 3,000 5,000 A2,000
307 QI2H0IH 3,000 3,000 0
NEETEES 3,000 0 3,000
OF QEaBI| LANIES 3
200,008 * 159 3,000
I AL X 156,700 43,700 113,000
201 YBr2 Y| 1,200 1,200 0
01 A2l 1,200 1,200 0
OsragY| 1,200
ololold SAb &40 HE
80,0002 * 5JH 400
olololy Al HEE HA
20,0009 * 1074 200
SOIHOIY BA 840 M
100,000 * 474 400
oOlH0lY BAb ZHE M
20,0002 * 1074 200
01 YsrEA 3,000 3,000 0
10 BAAHIR &S 3,000 3,000 0
O=0lojg sA &IHRE Oit] 24
10,0008 * 20% 2,000
OOItHOIL BA EIIRE OiH] 24
1,000,000 * 1Al 1,000
307 QI2H0IH 52,500 39,500 13,000
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A= FolexFHp SN LN
M col =X B
CHl: SOl Db23t B (crel @
_ _ MEg
A= 2M -3 - SAEH) - MRAY - BES Off &F K Ofl At ot Hws2
04 BIZFSAIRE 25,700 39,500 13,800
OAHIISM X 18,000,0008! * 14! 18,000
OLol HOIESHS A2
2,700,0008 * 14! 2,700
OLAB0IY SNAZHE B2X
5,000,0008 * 14} 5,000
10 ABI=XEE 26,800 0 26,800
oaHlass 2 15,000,008 * 14! 15,000
Okolold AR R 10,000,008 * 14! 10,000
O0lHi0IY BAIEE 1,800,0008 * 14| 1,800
402 SIREXHZ 0| & 100,000 0 100,000
01 SIRARp=R = 100,000 0 100,000
OZSHYE & 100,000,0008 * 14! 100,000
COXIER Q43 3,600 0 3,600
= 720
Al 2,880
301 LEHE AR 3,600 0 3,600
= 720
Al 2,880
10 BAFAHIZ A2 3,600 0 3,600
OLQXEK 243/t X2 180,008 * 20 3,600
= 720
Al 2,880
ColgRe HEDY ASEH 1,446,142 1,460,480 £ 14,338
= 610,111
= 67,186
= 117,162
Al 651,683
colgdiel At 8,000 8,000 0
= 3,000
Al 5,000
307 ©I2r0l M 8,000 8,000 0
= 3,000
Al 5,000
10 ABISREE 8,000 0 8,000
OO0l LNHZIAIZ(2A)  8,000,0008 * 14! 8,000
£ 3,000
Al 5,000
ColYRtel K 1,220,222 1,229,560 19,338
= 610,111
= 117,162
Al 492,949
CMEIEIES! 1,220,222 1,229,560 19,338
= 610,111
3 117,162
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AR Fol=xE e SN FUME
M Lol =X =X
colgNiel HED ASE (69l &2
‘:’/\‘l X XH . |(§|]:||).}\-||‘=‘}\|-0'|-_/\‘|E OH In_-lln“j_“:_ H|j§3k
- S = T - = S = = 0:”/&,% WS
492,949
10 AtaIZ2XE X 1,220,222 0 1,220,222
OLol YNl B4 L LHAEY
1,163,522,000& * 14 1,163,522
= 581,761
= 117,162
Al 464,599
Okl 2Xxiel & ol
8,100,000& * 7 56,700
= 28,350
Al 28,350
NSAL2l AILIHZ2E 217,920 222,920 A5,000
= 64,186
Al 153,734
307 212t01& 217,920 222,920 25,000
= 64,186
Al 153,734
10 Atal= Xl 217,920 0 217,920
OAILIOf ) 210,000,000& * 14 210,000
= 64,186
Al 145,814
OANLIOEE SAR = 7,920
o AlLIN FXE 2=SH(54 Ol4)
150,000& * 28 = 12& 3,600
S AlLIA FX ==& (54 016t)
120,000@ = 3% » 12& 4,320
FAAE2E 1,707,924 209,083 1,498,841
=23 29 125,524 111,183 14,341
101 2144l 65,664 50,203 15,461
04 JI2HRIZ2 2 X 65,664 50,203 15,461
(O)=F=1=4 te| JIZERZ22X5 2+ 51,264
=Jl& 48,0003 » 6% * 140 40,320
= J|Et )
48,0003 » 69 » 38Y 10,944
Of2X s#&23- NZ2EX =
48,000& * 109 » 30 14,400
201 et H| 29,860 25,980 3,880
01 AR 22l 5,000 1,000 4,000
osdzg & 2,000,000& * 14 2,000
OYE 42 8y s#49 HX
100,000& * 5& * 23| 1,000
O&E&3R NI
1,000,000 » 14 1,000
oz2fk = 50,000& * 109 = 23l 1,000
02 22234 24,860 24,980 A 120
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SR EB O3 - NRAIY - HAS o e =2
O232= & HMA 12,660
oNJIlg 750,000& * 12& 9,000
oR01ZHl 9| 260,000& * 12& 3,120
oF¥3tx HA =2 18& * 30,000 £ 540
Ozl 7,200
Sl=3=" N —E-pipl 600,000& = 12& 7,200
OAEFHI XYl 5,000
o AM&EH KX 5,000,000& = 14 5,000
206 M=l 14,000 14,000 0
01 =4l 14,000 14,000 0
OoR%gze s 2 7,000,000& * 14 7,000
OR9zel A3l 2 3,000,000& * 14 3,000
O338 MdJ|l 8§ 72 4,000,000& = 14! 4,000
307 212t01& 15,000 15,000 0
05 QIZtRIEZ 15,000 15,000 0
OHEEZE 2+HelAld &el
15,000,000& * 14 15,000
405 KHAHFESHI 1,000 6,000 A5,000
01 ML ESHSHI 1,000 6,000 25,000
O&EE3% WHIl 2 500,000& = 2CH 1,000
HFEISE A4 =5 80,000 70,000 10,000
401 A EHIZL 2048 80,000 70,000 10,000
01 Al&H| 80,000 70,000 10,000
TR L 2AS AT Y|
20,000,000& = 14 20,000
OZANEE B4 (24 H2INE S)
20,000,000& * 14 20,000
Oo=etd NS ==X At
10,000,000& * 14l 10,000
O32&z =2XE JtZdxs X
30,000,000& = 14 30,000
SHEAE HE 1,502,400 0 1,502,400
201 et 2,400 0 2,400
01 AFR 22| 2,400 0 2,400
Os2= A& 2,400,000& * 14 2,400
401 AIEHIZ 20 500,000 0 500,000
01 Al&H| 500,000 0 500,000
OstEAIE J12 & HAEAH
500,000,000& * 14 500,000
402 QI2HX=01A 1,000,000 0 1,000,000
01 SIAXGEEX 1,000,000 0 1,000,000
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Al F & =H - S =E =

o ol =X =&

S MANESY (el mel)
Al 32 t:sA_l X XH [:|-o|(=|j:”) }\.”I:I}\l,o-l A= Oﬂj\}OH In_-“‘j_'n:_ H|j§3k
== ° T == T2 ° TNs a3 &= 04| AFOH U=sa

OStEANE SAXS X2 (18XH)
1,000,000,000& * 14 1,000,000
ESdYTH 243 757,710 542,534 215,176
& 1,600
Al 756,110
22 - X 29 s4 757,710 542,534 215,176
= 1,600
Al 756,110
S20aT d ¥ X3 328,000 329,000 21,000
301 LetEA3 315,000 315,000 0
01 M2EEE =6z 315,000 315,000 0
OFHEAN HEHUH =Y
20,000& = 1,300 = 12& 312,000
O E AL AFY ZHIHl XIS 3,000
307 QI2t01A 13,000 14,000 21,000
04 QUIZHHALE X 13,000 14,000 A 1,000
Oet8& A =d 700,000 * 10JH &K 7,000
OB=UHALT ER3A A=
2,000,000& * 14 2,000
O =Y =E&HAF X2 (3HEHA)
4,000,000 = 14 4,000
SESLAA 18,700 17,700 1,000
201 LEer23| 12,500 12,000 500
03 A2 I 12,500 12,000 500
OssY A Mzl Ler=EH|
9,000,000& * 14 9,000
O8sd JIgazd X ¥ =35 LRl
3,500,000& * 14 3,500
301 LEtEAZ 700 700 0
10 dAtAHIBA 3 700 700 0
OHANTHRA Z Al 7,000& * 100 700
307 QI2tol™ 5,500 5,000 500
04 CIZFHALE X 5,500 5,000 500
OsgdA 7188 & 5,500& = 1,000H 5,500
MBS EAIY 22 94,050 101,500 AT,450
307 QI2t01A 94,050 101,500 AT,450
03 AMt2lEHMEXEZS 94,050 101,500 ANT,450
OAtsl &t 224l XI& 94,050,000& * 14 94,050
SERIN | 2A=H N 8,000 10,900 22,900
& 1,600
Al 6,400
307 212t01& 8,000 10,900 A2,900
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A3 Fo=xIHP SN EOIMBX D
Y PEMYIY N3
2= 29 54 )
- _ _ Muo
SN-EHH . SH(BH) - MEAY - BHE=2 il ot o =2
= 7600
Al 6,400
NIEEEEET 8,000 10,900 A2,900
22N 9= o2y X
8,000,008 * 14! 8,000
= 1,600
Al 6,400
CE R 305,960 20,934 285,026
101 960 934 26
04 2zxs2s 960 934 26
H2 BAFY AAY|
48,0002 * 5MHA * 42 960
401 AIZHIL 2T 305,000 20,000 285,000
0f 305,000 20,000 285,000
42 BA BA U YT MX
5,000,008 * 14! 5,000
2232 2249 300,000,0008 * 14} 300,000
e 3,000 2,500 500
301 LPBAD 3,000 2,500 500
01 AtSIBEE 253 3,000 2,500 500
O2& Jt¥ SI2E 7 3,000,008 * 14 3,000
UYL P (FUMS XA D) 35,900 36,000 A100
EEF 35,900 36,000 A100
oz 35,900 36,000 A100
201 L2y 21,800 21,800 0
01 ALR2lt] 21,800 21,800 0
o+ 14,240
cMeI=2
12,0008 * 3% * 128 * 202 864
T AP 50,0002 * 47 600
oNREEY 1,376,0002 * 14] 1,376
SNRININARE 80,0002 * 128 9,600
oEAO - EBENH 60,0008 * 303 1,800
o=zl 7,560
ollEARLHTAY|
70002 * 6% * 152 * 122 7,560
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OZS0ITN OISYSE L L2XNSA DSED}
1,000,008 * 14! 1,000
307 212+0I & 20,500 21,500 A1,000
01 2 2YLR2H| 12,500 12,500 0
OOCI&ZE0IBIK ALHX 250,008 * 50% 12,500
04 QIABALRE 8,000 0 8,000
OUISSIB DI H ALY, ZS XA, 21 2 H3)
8,000,008 * 14! 8,000
z25T20Y 29 25, 183 24,858 325
101 Q1 24H| 11,983 11,458 525
04 JIAHIZRSES 11,983 11,458 525
OJAHZ2RS 24 11,983
S 36,5009 * 19 * 2302 8,395
oFE4+Y 36,5009 * 19 * 462 1,679
oo R4 g 36,5008 * 19 * 112 402
oAZtel+g 6,8501 * 20AI2} * 112 1,507
201 Yereo| 12,000 12,000 0
03 A2 H] 12,000 12,000 0
OJN=2sZ2I8eY 12,000,008 * 14! 12,000
301 et AZ 1,200 1,200 0
10 BAHAHI2 A2 1,200 1,200 0
OAUINFTE DT L HIHBH
10,0008 * 123 1,200
M= 4= SN L DHKES 9,700 11,100 A 1,400
201 Y2 Y| 4,300 4,300 0
01 AtR22lt] 2,100 2,100 0
OEX-FN= 1,000
oOIS - HEZAMY =3NS ALY
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Al 96,000
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= 23,998
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10 AlRISXEX 399,998 0 399,998
Ootol=20l X 399,998,000& * 14 399,998
= 280,000
= 23,998
Al 96,000
CR3ItsXNddEH29 80,000 75,000 5,000
J| 56,000
Al 24,000
307 212t01& 80,000 75,000 5,000
J| 56,000
Al 24,000
10 At3IZ2XE X 80,000 0 80,000
OU=2sEXNJAMH2YE X3
80,000,000& 14 80,000
J| 56,000
Al 24,000
O23E 2 USsAHY 162,240 174,480 A12,240
| 113,568
= 9,735
Al 38,937
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J| 113,568
= 9,735
Al 38,937
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Al 3,200
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| 26,282
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Al 9,011
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| 26,282
& 2,254
Al 9,011
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| 26,282
T 2,254
Al 9,011
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J| 413,083
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= 125,191
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SIOHE et X 2,700 3,000 A300
307 QI2tol™ 2,700 3,000 A 300
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11,925

11,925

2,385
9,540

11,925

=M

73,800

14,760
59,040

69,300

4,500

307 2l2t

=M

73,800

14,760
59,040

69,300

4,500

rc

eal=ull

73,800,000& = 14!

=M

73,800

73,800

14,760
59,040

73,800

= M

234,500

46,900
187,600

235,000

A500

307 ©12+0

= M

234,500

46,900
187,600

235,000

A 500

234,500,000& = 14

=M

234,500

234,500

46,900
187,600

234,500
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42 Fp=NEY Sy PEpIE
=3 9R - A=NE
°He: BESAME2IXA (ctel &
== *° T = o7l (= . TAIs * 23S = O] AFOH Wsa
BFSAESAMA HAR2LY 103,900 94,000 9,900
& 20,780
Al 83,120
307 BI2tol™ 103,900 94,000 9,900
& 20,780
Al 83,120
10 AleISXIEX 103,900 0 103,900
OESALSML 2242 N
103,900,000& * 14 103,900
& 20,780
Al 83,120
ERJBHH 2I XA 60,000 60,000 0
= 12,000
Al 48,000
307 QI2t01A 60,000 60,000 0
= 12,000
Al 48,000
10 At2ISXIE X 60,000 0 60,000
OFSHLME QA - SAUIX
60,000,000& * 14 60,000
& 12,000
Al 48,000
0ROt MEAE ES0AL =Y 9,600 8,800 800
& 1,920
Al 7,680
307 QI2told 9,600 8,800 800
& 1,920
Al 7,680
10 ABISTEZR 9,600 0 9,600
OHMEY BEsAld SALN SE2Y X=
9.600,0008 * 14! 9,600
= 1,920
Al 7,680
SESAIE W0 | 37,000 37,000 0
& 7,400
Al 29,600
307 2I2t0l ™ 37,000 37,000 0
& 7,400
Al 29,600
10 AleISXIEX 37,000 0 37,000
OBSAE WMHu2H X
37,000,000& * 14 37,000
& 7,400
Al 29,600
ESSANE2IRNIAY 2Z 2l 2,500 2,500 0
202 (44| 2,500 2,500 0
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2AMHEIE
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t

22
J2

20
B
2

01 =LHAOYI

SN RF=2 Ol

2,500
2,500

2,500

SIAEXE

= H W

163, 123
81,561
24,469
57,093

129,420

33,703

307

|’El

1240 &

= N W

163,123
81,561
24,469
57,093

129,420

33,703

163, 123,000& = 14|

= Hn W

163,123
163,123

81,561
24,469
57,093

163,123

= MW

, 187,197
,379,905
,157,485
,649,807

19,366,980

A1,179,783

= Hn W

,135,921
,953,457
,986,037
, 196,427

12,253,680

4,882,241

307 2120l &

= H W

,135,921
,953,457
,986,037
,196,427

12,253,680

4,882,241

17,135,921,000& * 14|

= N W

,135,921
,135,921

,953,457
,986,037
, 196,427

17,135,921

SISAILZ001E0ts LS

= MW

891,276
426,448
139,448
325,380

746,600

144,676

= HnH

891,276
426,448
139,448
325,380

746,600

144,676

X462

4 0|0IE0ts

&t

891,276,000& * 14!

= N W

891,276

891,276
426,448
139,448
325,380

746,600

144,676

ESANE 018 Aot ES=

A&

160,000

160,000
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AR FoIEXH S SIS
Yy 28 .- Hg=N5T
Col: BS2X9 (Etel:&e)
- _ _ Muo
AR 2N B SR(S) - MBAY - BAS 0l &k 24 e HlnE2
< 32,000
Al 128,000
307 BI2t0IA 160,000 160,000 0
= 32,000
Al 128,000
10 ASISREE 160,000 0 160,000
OBSAIE 018 AMMOt ESE X2
160,000,008 * 14! 160,000
= 32,000
Al 128,000
Iojel =X A 11,350,200 10,922,253 427,947
= 4,203,670
= 595,200
= 1,707,227
Al 4,844,103
ojoI2st - MSESK S 33,660 41,560 £2,900
= 1,152
Al 37,508
ZOHO! BALKIE 32,900 35,800 £2,900
307 BI2t0IA 32,900 35,800 £2,900
04 SIAHSANS X 32,900 35,800 £2,900
OXHAZHEE MK 12,000,000 * 141 12,000
OFojeIolL JIE 8 Al 1,400,000 * 14! 1,400
OFOHQIGHHAI sA 5,500,000 * 14! 5,500
OXfQIE &3l 1,500,008 * 14! 1,500
OM325 WOISXIZOITHE 3,000,000 * 14! 3,000
ORM203| 810+S MAMS 4,500,000 * 14! 4,500
OZ NI OGS A I = 500,000 * 14! 500
OFfeIIISZIIHE 500,000 * 14! 500
OZ0§e!l 2 H 002t E 3 500,000 * 14! 500
OXI=Z 0§ =X Chal 500,000 * 14! 500
OAtgelBetz ne|2S0sl 1,000,000 * 14 1,000
Os0HI8I 20| B AL 1,000,000 * 14! 1,000
Os0r M3l 1,000,000 * 14! 1,000
TEeISOISEH 5,760 5,760 0
= 1,152
Al 4,608
307 SI2t0I A 5,760 5,760 0
= 1,152
Al 4,608
[IPNEEINEES 5,760 0 5,760
OBFLISOHSEMXY  5,760,0008 * 14! 5,760
= 1,152
Al 4,608
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0z N>
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D FoIEX M SN AIE
B0l =X 5
D HOHQIEXAIL 2YN

[

- _ _ pSNE e
2N E3H - S2(SH) - NEAMYE - BES oﬁ&iﬁ Hns2
OIS AAIE 2HXA 4,464,425 4,807,007 A 342,582
= 105,593
= 492,300
& ,293,408
Al ,573,124
HOIAIE 2E K& 8,880 8,700 180
201 Let29h| 8,880 8,700 180
02 S=294| 8,880 8,700 180
OFZLEMALS AN AIBE K&
8,880,000& * 14 8,880
ojoI=E2XN2E2Y 705,000 750,000 245,000
= 211,500
Al 493,500
307 2I2t0|™ 705,000 750,000 245,000
= 211,500
Al 493,500
10 MSISXIEX 705,000 0 705,000
oFe=Exa 29 N (2H)
705,000,000& = 14 705,000
= 211,500
Al 493,500
SOHeIF2AEBSAIEEH 251,000 222,000 29,000
= 75,300
Al 175,700
307 2I2t0| ™ 251,000 222,000 29,000
= 75,300
Al 175,700
10 Al SXIEX 251,000 0 251,000
QZEUF2AESAIE2H(2H)
251,000,000& * 14 251,000
= 75,300
Al 175,700
SOHCICD I BESAIE2H 228,000 210,000 18,000
= 68,400
Al 159,600
307 2I2t0| ™ 228,000 210,000 18,000
= 68,400
Al 159,600
10 AISISXIEZ 228,000 0 228,000
OTHMAHIIESAIE 2H(2H)
228,000,000 * 14 228,000
= 68,400
Al 159,600
SSMEIIER2Y 186,000 166,000 20,000
= 55,800
Al 130,200
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0z N>
-

D FoIEX M SN AIE
B0l =X 5
D HOHQIEXAIL 2YN

SR HE SR (B) - HRAY - B S

OH
i

20
B
2

307 2120l A

=M

186,000

55,800
130,200

166,000

=M

186,000

186,000

55,800
130,200

186,000

=M

175,000

52,500
122,500

165,748

9,252

307 2120l &

=M

175,000

52,500
122,500

165,748

9,252

=M

175,000

175,000

52,500
122,500

175,000

= [

96,000

28,800
67,200

92,000

4,000

307 2120l &

=M

96,000

28,800
67,200

92,000

4,000

96,000,000& = 14!

= [

96,000

96,000

28,800
67,200

96,000

=z

2,507,060

1,253,530
1,253,530

2,932,704

N425,644

307 Q12t0ld

=z H

507,060
253,530

2,932,704

N425,644

=z H

2,
1,
1,253,530
2,507,060

2,507,060

1,253,530
1,253,530

2,507,060

= N W

211,185
105,593
21,118
84,474

35,055

176,130

101 Q1]

H

211,185
105,593

35,055

176,130




0z N>
-

Lk SN HEIE
e =X BW
D ZHA=RANE RYX

SR HE SR (B) - HRAY - B S

=1
R
121

= H

21,118
84,474

04 JI2tHZ=2 Xt =

= ]
OZHUHI =201 XA  211,185,000& * 14

=MW

211,185

211,185
105,593
21,118
84,474

35,055

4>
o
Ot
12
x
o
02
o
2
H
A
=2

=z H

7,200

1,440
5,760

7,200

307 2l

fv
(=
P

= H

7,200

1,440
5,760

7,200

S
>
o
i
>

2t
FA

O
i
ton
o
x
o
0
]
J2

e

7,200,000& = 14!

=z H

7,200

7,200

1,440
5,760

= M

29,000

5,800
23,200

29,000

307 2120l &

= M

29,000

5,800
23,200

29,000

29,000,000& = 14!

=

29,000

29,000

5,800
23,200

= H

57,600

11,520
46,080

38,400

307 2120l A

=z H

57,600

11,520
46,080

38,400

=

=

|4 22lel elddl X3

57,600,000& * 14

= H

57,600

57,600

11,520
46,080

ZOA=SKAE 2SANEAE =23

2,500

2,500

202 Oddl

2,500

2,500

01 LAY
OHMA=SXNHR =HNHEl 2,500,0008 * 14

2,500
2,500

2,500

oH ol AHEI»OI—%(__:! INEE

- o= [uind

W

3,954,972
2,670,061

3,635,495
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04 Nz

el

JL-Y

LT

D EOfOl =X
ZoHQl A

A HdIE

[

t

20
R
J2H

= H AL

11,400
240,964
1,032,547

o
2
ro
10
il
x
un
o
>

=M

38,000

11,400
26,600

47,000

A9,000

307 2120l &

= [

38,000

11,400
26,600

47,000

29,000

38,

o

00,000 * 14!

=M

38,000

38,000

11,400
26,600

38,000

EXNeZEXNHER

= H

48,000

4,800
43,200

48,000

307 2120l A

=z H

48,000

4,800
43,200

48,000

= H

2 (AMHIFIN(ZH)
24,000,000& = 1JH 2

48,000

24,000

4,800
19,200

24,000

48,000

= H W

7,600
3,800
1,140
2,660

7,600

= Hn N

7,600
3,800
1,140
2,660

7,600

Q

7,600,000& * 14

= H W

7,600

7,600
3,800
1,140
2,660

7,600

= N W

1,185,716
830,000
71,145
284,571

1,910,914

AT725,198

H

1,185,716
830,000

1,910,914

AT725,198
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A= FoISXI SN HEIIED
o Zojel =X S
SRl TOHOl MEBOIY X (25l &2
- _ _ Muo
AR RN SR(SH) - NRAY - BHES 0 & 24 e HRE2

= 71,145
Al 284,571

01 AtSI2E= 4623 1,185,716 1,910,914 ~725,198
OBN+LX2 1,185,716,0002! * 14! 1,185,716
= 830,000
= 71,145
Al 284,571

S ISPIEET] 8,320 1,802 A3,482
=2 6,656
= 333
Al 1,331

01 LB A 8,320 1,802 73,482
= 6,656
= 333
Al 1,331

NI EEEERSTE 8,320 1,802 73,482
OO XHASHI I 8,320,0002 * 1Al 8,320
= 6,656
= 333
Al 1,331

U EIPNEE e L 7,615 15,840 1,775
= 3,523
Al 14,002

201 Yer2 Y| 17,615 15,840 1,775
= 3,523
Al 14,002

01 A2l 17,615 15,840 1,775
OFANSAST 17,615,0002 * 14} 17,615
= 3,523
Al 14,002

DOl LB S AN 2,000 12,000 0
= 2,400
Al 9,600

307 QI2H0IH 2,000 2,000 0
= 2,400
Al 9,600

10 MSI= X2 12,000 0 2,000
OF0jel 22IA XY 12,000,008 * 1A 12,000
= 2,400
Al 9,600

& 04 01 &1 5 A HI X & 4,000 5,000 A1,000
= 800
Al 3,200

301 YB3 4,000 5,000 A1,000
= 800
Al 3,200
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T e T

DM =X
A

DO MEoHY

2AMHEIE

[

t

22
J2

=1
R
121

>

Bl XI&  4,000,000& * 14!

=

4,000

4,000

800
3,200

5,000

20,000

20,000

20,000

20,000

|0

[AlE XI& 20,000,000 = 14

20,000
20,000

20,000

= N W

2,613,721
1,829,605
156,823
627,293

1,339,740

1,273,981

= MW

2,613,721
1,829,605
156,823
627,293

1,339,740

1,273,981

2,613,721,000& * 14

= HnH

2,613,721

2,613,721
1,829,605
156,823
627,293

1,339,740

1,273,981

= HnH

735,738
487,815

49,582
198,341

622,910

112,828

I

= H W

180,000
144,000
7,200
28,800

83,352

96,648

307 G12t0lH

= MW

180,000
144,000
7,200
28,800

83,352

96,648

01 9=+
0

=0
Oofel e

180,000,000& = 14|

= Hn W

180,000

180,000
144,000
7,200
28,800

83,352

96,648

0
2
e
on
i
Pal
I

= Hn N

3,172
1,586

316
1,270

1,324

1,848

307 2120l &

= HnH

3,172
1,586

316
1,270

1,324

1,848
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R
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SAEH KR

3,172,000& » 14l

=N W

3,172
3,172

1,586
316
1,270

1,324

= Hn W

7,592

6,075
302
1,215

6,344

1,248

= HnH

7,592
6,075

302
1,215

6,344

1,248

fan §
OZHAHEEXI P WS 7,592,000& * 14

=z HnH

7,592
7,592

6,075
302
1,215

6,344

1,248

= HH

459,304
321,514

27,558
110,232

480,000

A20,696

307 2120l &

= N W

459,304
321,514

27,558
110,232

480,000

A 20,696

05 D29l

=
OZO0i0ls MEXIZ ALY  459,304,000& * 14

= N W

459,304

459,304
321,514

27,558
110,232

480,000

A 20,696

= H

10,000

2,000
8,000

8,000

2,000

307 2120l &

=

10,000

2,000
8,000

8,000

2,000

01 A=<+ =H
ol

10
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HI(HI2W) XI&
10,000,000& = 14|

= H

10,000

10,000
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8,000
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0z
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e
[
0¥
0¥
Bl
=
o

=

16,050

3,210
12,840

16,050

H

16,050
3,210

16,050
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D ROl R=X B CERCE

- RN - F3H - SA(SA) - MRAY - BES O

22
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=2
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12
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0

Al 12,840

|2 X +0l= 16,050 16,050 0
OZMAALHEX A 16,050,000& * 14 16,050
3,210
12,840

=

SENSSEMY gsE2XXE 23,040 23,040 0
4,608
18,432

= H

307 QI12t0IH 23,040 23,040 0

4,608
18,432

= H

EES 23,040 0 23,040
ZZOj BESRE

23,040,008 * 14! 23,040
4,608
18,432

= H

Al -

0t
K
R
2

FOHIRE tH HAHLE XA 9,600 4,800 4,800
6,720

576
2,304

= N W

307 2120l A 9,600 4,800 4,800
6,720

576
2,304

= HnH

05
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9,600 4,800 4,800
AL EX
9,600,000 * 14! 9,600
6,720

576
2,304

O
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0
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= N W

Z2E A2ZO0HeICHOFAL Tt 9,900 0 9,900
7,920

396
1,584

= Hn W

307 G12+0l & 9,900 0 9,900
7,920

396
1,584

[
r

= HnH

10 At2ISXEX 9,900 0 9,900
O3=E AIZTZ 00l QtOFAL THA
9,900,000 * 14! 9,900

7,920
396
1,584

= N W

20! AABED X& 17,080 0 17,080
3,416
13,664

= H
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2,156,405

940,201
91,500
122,121
1,002,583

1,815,281

341,124
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A 350

600

600

600
600
600
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110,000

22,000
88,000

110,000

110,000

22,000
88,000

110,000

110,000

110,000

22,000
88,000

110,000

23,000

4,600
18,400

21,000

2,000

23,000

4,600
18,400

21,000

2,000

23,000

23,000

4,600
18,400

23,000

305,000

91,500
213,500

300,000

5,000

MR (ZIH) - NIRAY - BE=Z
=
Al
=EDlinE
17,080,002 * 14}
&
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2 50,0008 * 3 * 43|
=
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=
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110,000,008 * 14!
&
Al
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=
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&
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AN HME2Y(2H)
23,000,000 * 14!
=
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Al
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91,500
213,500
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305,000,000 * 124
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305,000

305,000

91,500
213,500

= H W

15,312
7,656
1,531
6,125

4,542

10,770

101 Q1248

= H o}

15,312
7,656
1,531
6,125

4,542

10,770

04 JIZHH22REE S

OIS XL X2l AL 15,312,000 * 14

=}

15,312
15,312

7,656
1,531
6,125

4,542

10,770

= HH

150,000
60,000
18,000
72,000

150,000

307 2I2+0| &

= H W

150,000
60,000
18,000
72,000

150,000

150,000,0008 * 14!

= H

150,000

150,000
60,000
18,000
72,000

150,000

= HH

1,016,733
536,713
46,004
434,016

1,195,977

A1T79,244

307 RI2H0IH

= Hn W

1,016,733
536,713
46,004
434,016

1,195,977
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MEIZET 2 (B2 H)
766,733,002 * 14!
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766,733

766,733

536,713
46,004
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250,000

945,977

A179,244

250,000
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42 Fp=NEY M 0lEIED
= mojel =X =
Crol: HOHOITHE JIBHEA (29 22)
Al 32 t:sA_l X XH [:|-o|(=|j:”) }\.”I:I}\l,o-l A= Oﬂj\}OH In_-“‘j_'n:_ H|j§3k
== ° T == T2 ° TNs a3 &= 04| AFOH U=sa
OZOHCIASI S K& (AlBIZ=D)
250,000,000& * 14 250,000
NAMMEAIE &SI 6,000 10,000 24,000
& 1,200
Al 4,800
307 QI2t01A 6,000 10,000 24,000
= 1,200
Al 4,800
10 Al2ISXIEX 6,000 0 6,000
OXATHE AIE HiSHI 6,000,000& » 14 6,000
& 1,200
Al 4,800
SSAEZS J0Q HAAL &= 50,000 0 50,000
401 AIEHIZ 20 50,000 0 50,000
01 Al&HI 50,000 0 50,000
OSSAEE2 Z0el HAANE &XI
50,000,000& * 14 50,000
ZoHel X 479,760 0 479,760
= 335,832
& 28,786
Al 115,142
307 2I2t0l ™ 479,760 0 479,760
= 335,832
= 28,786
Al 115,142
05 BIZtRIEZ 479,760 0 479,760
Ol =X 479,760,000 * 14] 479,760
= 335,832
= 28,786
Al 115,142
FHAAHE OlsES 5,872,432 5,585,956 286,476
= 1,634,496
= 882,090
& 729,079
Al 2,626,767
Ots=XANE2E XA 2,990,747 2,863,941 126,806
= 651,487
= 792,090
& 119,413
Al 1,427,757
XE0tsdEH L OtsAld=29g 100,000 89,000 11,000
307 QI2t01A 30,000 0 30,000
01 S22 =4l 10,000 0 10,000
O0ts=XA4 Ots2EXZ At
10,000,000& * 14 10,000
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A3 Fo=x M SN AIIED
A HoHE OIEES
@2l Ots=SXAIE2E X2 (S :®2)
Al = NI . CLO (5 SAI . HA 2 A} OH HEE =2
10 ABISXEZS 20,000 0 20,000
OXYotsdEHOtEs HAZ2elXAAS
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